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LA EERMETEFRELE

MEBF

JIE 2 FFR 4 SEET 10 X ik
1 =RE 1871 53 20 AE 5
2 EEER 1864 49 15 AEg H 15
3 FMERLIE 1836 49 18

4 HER 1833 43 13

5 RERRT 1814 37 10

6 ABRAF 1805 36 11

DLEBF

JIE 2 FE A &t 10 X 5%
1 ABRAF 1896 54 11 B H 15
2 EEE 1804 38 16 AREL H 15
3 HER 1803 43 13 AEy H 15
4 G 1766 43 19

5 IR 1745 34 7

6 =RE 1591 21 7
BEZF

JIE 2 FE A &t 10 X 5%
1 REBKT 1877 61 19 B H 15
2 HEE 1869 39 7 AEy H 35
3 EEER 1832 45 15

4 FMERLIE 1773 38 9

5 ABR AT 1718 29 7

6 =RE 1570 24 4
VELTF

JIE 2 FFR 4 SEET 10 X ik
1 KB AT 1947 76 27 B H 15
2 HER 1783 40 11 B H 15
3 RERAT 1631 20 7 AER 15
4 IR 1539 18 6

5 =RE 1537 12 0

6 EER 1498 16 6




